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QUESTION 1

Which statement is true about if-then rule within a ruleset?
A. Itis evaluated in the listed order.

B. It can evaluate other rulesets.

C. It can modify the result of the rule multiple times.

D. It always sets the outcome of the rule.

Correct Answer: B

QUESTION 2

Identify three true statements about the use of composite sensors.

A. They enable the monitoring and publishing of incoming and outgoing messages.

B. XPath expressions can be used as a filter to track a particular type of message.

C. You can choose to view the runtime output of the composite sensor in a database table.
D. The output of a composite sensor can be directed to Oracle Business Activity Monitoring.
E. They publish their output to the WebLogic Administration Console.

Correct Answer: BDE

QUESTION 3

Which tool would you use to enable more detailed logging of SOA components?
A. WebLogic Console

B. Enterprise Manager

C. BPM Workspace

D. WebLogic Diagnostics Framework (WLDF)

Correct Answer: D

QUESTION 4
To support invocation of a SOAP web service from BPEL, you import the WSDL of the web service into your SOA

project. The local WSDL copy contains no partner link types. You create a partner link for the web service in the BPEL
designer.
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How does JDeveloper ensure the request partner link types are provided?

A. It automatically creates a wrapper WSDL to contain partner link types.

B. It automatically injects the partner link types into the local WSDL copy.

C. It prompts you to add the partner link types to the SOAP web service implementation.
D. It prompts you to manually add the partner link types to the local WSDL copy.

Correct Answer: A

QUESTION 5
Which two statements are correct about the Oracle Enterprise Scheduler Service (ESS) facility?

A. Itis a Java EE application that is deployed to WebLogic Server to provide distributed job request processing across a
single WebLogic Server or a collection of WebLogic Servers.

B. It is shipped as a separate product and you can install it after you have completed the SOA Suite installation.
C. Itis used extensively by Fusion Applications so it is well-tested.
D. It is administered via the WebLogic Server Administration Console.

Correct Answer: AD

QUESTION 6

A user has configured Mediator M1 to receive and route product information from System X into its internal applications
in chronological order. For each product, M1 receives one "create" event followed by any number of "update " events
from an AQ Queue via a JMS adapter. M1 can receive updates to the product at any time of day.

The user claims that incoming messages for each product are received and processed in the correct chronological order
95 % of the time. However, the messages are being processed out of order 5 % of the time. This results in critical errors
in the target systems. The user expects all messages pertaining to a product to be unconditionally processed in the
order of arrival at M1.

What causes this discrepancy?

A. The user is running on a four-node SOA cluster and has not configured the inbound JMC adapter to be a singleton.

B. The user is running on a single-node SOA environment but has configured the number of inbound adapter threads to
be a value greater than 1.

C. The given Mediator configuration does not address this sequencing requirement.
D. The user has configured resequencer worker threads to a value greater than 1 for the Mediator service engine.

Correct Answer: C
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QUESTION 7

Which statement is correct about how if-then rules are processed during an inferencing session?
A. Rules are evaluated in the order in which they were added to the ruleset.

B. A particular rule can be fired only once in an inferencing session.

C. The effective date set for a rule can take it out of consideration for evaluation.

D. A priority setting of 1 will cause the rule to fire during each inferencing session.

E. Rules with multiple IF conditions receive higher priority during evaluation.

Correct Answer: A

QUESTION 8

In a BPEL model, what is the quickest way to implement a capability to skip rule execution if a particular condition
holds?

A. Model a switch activity to conditionally execute the business rule component.
B. Use a skip condition on the business rule component.

C. Include an XPath expression in an annotation on the business rule component.
D. Use a correlation set on the business rule component.

Correct Answer: C

QUESTION 9

To avoid the purchase of new server capacity, a company must limit the volume of messages routed to a
computationally expensive RESTful service operation.

Which Oracle SOA Suite component can help the company meet this requirement?
A. BPEL process

B. Mediator

C. Proxy Service

D. Business Service

Correct Answer: D

QUESTION 10

Which two statements are true about the defined Oracle JMS Adapter outbound connection?
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A. It supports connections to JMS distributed queues.

B. It uses default credentials when connecting to the remote JMS provider.
C. It supports zero message loss via distributed transactions.

D. It requires the JMS consumer to explicitly commit transactions.

Correct Answer: AB

QUESTION 11

Given the following Oracle File Adapter configuration:
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